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QUESTION 1

Which IP address will the client address be changed to when SNAT automap is specified within a Virtual Server
configuration? 

A. The floating self IP address on the VLAN where the packet leaves the system. 

B. The floating self IP address on the VLAN where the packet arrives on the system. 

C. It will alternate between the floating and non-floating self IP address on the VLAN where the packet leaves the
system so that port exhaustion is avoided. 

D. It will alternate between the floating and non-floating self IP address on the VLAN where the packet arrives on the
system so that port exhaustion is avoided. 

Correct Answer: A 

 

QUESTION 2

Which two methods can be used to determine which BIG-IP is currently active? (Choose two.) 

A. The bigtop command displays the status. 

B. Only the active system\\'s configuration screens are active. 

C. The status (Active/Standby) is embedded in the command prompt. 

D. The ifconfig -a command displays the floating addresses on the active system. 

Correct Answer: AC 

 

QUESTION 3

Which three properties can be assigned to nodes? (Choose three.) 

A. ratio values 

B. priority values 

C. health monitors 

D. connection limits 

E. load-balancing mode 

Correct Answer: ACD 

 

QUESTION 4
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Which two can be a part of a pool\\'s definition? (Choose two.) 

A. rule(s) 

B. profile(s) 

C. monitor(s) 

D. persistence type 

E. load-balancing mode 

Correct Answer: CE 

 

QUESTION 5

A site has six members in a pool. All of the servers have been designed, built, and configured with the same
applications. It is known that each client\\'s interactions vary significantly and can affect the performance of the servers.
If traffic should be sent to all members on a regular basis, which load-balancing mode is most effective if the goal is to
maintain a relatively even load across all servers? 

A. Ratio 

B. Priority 

C. Observed 

D. Round Robin 

Correct Answer: C 
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